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Oblique Triangles Review Sheet Name _ KEY
(Answers provided)

Per.

Use the given information to A) decide how many triangles exist and B) solve the triangles that do
exist. If2 solutions exist, give both sets of missing sides and angles. Round to the hundredths

1. B=110°,C=30°¢=10.5 2. A=130°a=>50,6=30 place
3. C=50°a=25,c=22 4. B=150%a=64,b=10
5. a=6,b=9,C=45° 6. a=80,b=60,c=100

Find the area of the triangle having the given information below:

7. a=15b=8,c=10 8. B=80°%c=8,a=4

Solve these word problems. Round lengths to the nearest tenth and angles to the nearest degree.

9. Two planes leave an airport at approximately the same time. One is flying 425 m.p.h. ata
bearing of N 5° W and the other is flying 530 m.p.h. at a bearing of NV 67° E . Determine the
distance between the planes after they have been in the air for two hours.

10. To approximate the length of a marsh, a surveyor
walks 425 meters from point A to point B (as shown).
The surveyor then turns 65° and walks 300 meters
to point C. Approximate the distance AC across the marsh.

11. A triangular parcel of ground has sides with lengths 725 feet, 650 feet, and 575 feet. Find the
measure of the largest angle on this lot.
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Use the given information to A) decide how many triangles exist and B) solve the triangles that do

exist. If2 solutions exist, give both sets

of missing sides gld angles. Round to the hundredths

1. B=110°C=30%¢c=10.5 oS
: o 10
Q) SAA - | riangle 405
A e
b) A= /50°-B-C e =5k e -4
A= )g°-1/0"3° | SinC  Sing sinc  SIiNA
ﬁ-'-' 40°* 10,5 - __b_ 10,5 -
sin3%®  Sin p° Sin3%®  Sin 4P
h= 10550 16° a = 10.535in 4o°
Sin36° Sin36°
b~ 1473 q %1350
2. A=130°,a=50,b=30 b"3° A
&
Obtvse £ ¢ Q=50 B
[1]r o~ triangle
b) 4 - b C= 19°- A-B a. = €
SI0DA Sind C= 180°-13%272.3¢*| SinA SinC
S0 = 30 I(/g 22,04° so - -
Sin130° 3inB Sin130° 3in 22..4°
SinP= 303in136° C=5035in22.69"
SO 3.7 1306°
sin~' (L4590) =B C =~ 25./3
B%a7.3°
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3.

A

C=50%a=25,c=22 0SEN =22
a) S5A ,gjven Gitrft c 50% — B
01, 0z 45 a=2s
b) 157 4
a_ - C B= 18°-A-C
SinA  SinC B = 1%0°-(0,52*- 50"
a5 - 22 BY¥ 69.4%
SiInA 3inS6°
SinA = 2535)nS50°
22
sin' (.870s) = A
A~¢0,52°
zhd_A B= |30°-A-C
9 '=(0,52° B=I806° - 119,4%° - So°
r A= 180°-40.52° [|B= 10,42°
A=119,43°

mTa

4. B=150°a=64,b=10

a) 55A
given obuse £

= b

a
sin8

SinA

B

-

b=i0

A

[Clor 1 tangles

64 - 1o
sSin A SN 15D°

X outsicle of
range of 570
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5inC
- 22
sin6C9.Y8 Sinse’

b= 22 5)n 69.4¢°

Sin so*
bz 2¢. 90

b
Sin®

<
asnC

J_ = 2%

s/n 10.52° Srhse®

b= 22 5in10.52°
3n S0°
bx 5, a4

=
-—

SIn A= (4 5,n I50°

¥ JO
.Sfﬂ-' { 3J2) <A
Ne  Selvtiom




6. a=80,b=60,c=100

o ¢
g_“ @ b=C0

a) 555

/A B

b) X us¢ law of Loseevs
1 Ad largest < )5

C0SC = ql +|; 1 _c?.
2ab
eose = (20 (4o -(ioh)*
2(£0)(60)
osC=0
¢os™' (D) =¢C
¢ = °
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C= 100 A

X USe Law Of Sines
© fhind smallest &
L = b

ssn¢ 5nB

Joo - 60
sinQ0  Snd

Sin® = (05INg0°
100

Sn'(.L) =B
BY¥3.87°

B= /g6°-A-C

B = /86°- 4,73~
Y5

Bx 93,27

. a=6,b=9,C=45°
5. a=6,b=9,C=45 (,-31 et
a) SAS
1_56) yn@ f b=4 ‘
Y wse Law of sines 1 find smeflar <
b) ¢*° @*+b* - 2ab fos( a = ¢
€%= (,244%-2(6)(9)Co545° | SinA sinc
e = 40,6325 & = (.37
C %637 &5 3nA Sin4s®
SinA = G3in4s°”
¢. 37
Jin~! (,ecs¢) =A
Ax 4,73 °

A=180° -R-C
A=|go°-3687-%"
Ax 53.13°




Find the area of the triangle having the given information below:
7. a=15,b=8,c=10

S=atbté Area = \| S(s-a)(5-b) (5C)
£ = 165 (165-15) (1bs- DL 16.5-10)
S=15+ & +10 -
- = U1367,437S
ST S =|36,98 spunits
8. B=80°,C=8,a=4

frea = X ac 5n B
Area = X (H)(8) 5in 8D° =| 4,76 S6umits

Solve these word problems. Round lengths to the nearest tenth and angles to the nearest degree.

9. Two planes leave an airport at approximately the same time. One is flying 425 m.p.h. at a
bearing of N 5° W and the other is flying 530 m.p.h. at a bearing of N 67° E. Determine the
distance between the planes after they have been in the air for two hours.

425 mph (2 hrs) = 35D Myles
[ S3omeh (2hrS) = Joto Mmles
A=67" +5°= 72°

W —7E
sAs %= b +e2-2he CosA
¥ one soluha S Q2= (1060)* +(8D)* -2 (/0L0)( §5D) (05 72°

a*z ]28925l 37¢
a= |/35.5 miles apact

saving journal files Page 6



10. To approximate the length of a marsh, a surveyor
walks 425 meters from point A to point B (as shown).
The surveyor then turns 65° and walks 300 meters
to point C. Approximate the distance AC across the marsh.

c b=?
b*=a%+¢c*-2qc¢ CosB SAS = | slutiom
?= 3007+ 4252 - 2(300)(425) (os y/5° B= 186°-¢5°
L = 3728, 392,¢¢ 8= s

b% ¢/5.7 meters

11. A triangular parcel of ground has sides with lengths 725 feet, 650 feet, and 575 feet. Find the
measure of the largest angle on this lot.

\
047:'_ e sys X 15T use Law Of Cosings fo find

o © largost £
€os &= a2+b%-C*
] ’ A
B c=735 s
CosC = (L) +(575) - (725 )+
2(¢)(575)

eos ™' (,3043) =¢

=smo

Cx 72,3 °
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